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Algebra 2 Name___________________________________

©G u2X0D1O2W VKJuJtRad ySuoAfMtTwhalrkeT lLMLJCN.B O uAxl8lk LrQikgIhltTs3 hrVeRsOeZrrvieAde.r

Simplifying Complex Numbers

Write the expression as a complex number in standard form.

1)  

  

(

 

−8 + 8i) − 

 

(

 

2 + 4i) 2)  

 

(8i) + 

 

(

 

−4 − 8i) − 

 

(7i)

3)  

 

(−i) + 

 

(

 

−1 − 7i) − 

 

(2i) 4)  

  

(

 

1 − 6i) + 7 − 

 

(5i)

5)  

  

(

 

5 + 5i) + (7i) + (4i) 6)  

 

(3i) + 2 − 

 

(

 

8 − 5i)

7)  

  

(

 

−8 + 6i) + 

 

(

 

−6 + 3i) 8)  

  

(

 

7 − 7i) + 2 − 

 

(7i)

9)  

  

(

 

−7 + 8i) − 

 

(

 

6 + i) 10)  

  

(

 

8 + 6i) + 

 

(

 

−2 − 2i)

Use FOIL to multiply and write the expression as a complex number in standard form.

11)  

 

(

 

−1 + 3i)(

 

1 + 6i) 12)  

 

(

 

7 − 7i)(

 

4 − 3i)

13)  

 

(

 

−7 + 2i)(

 

−4 + 4i) 14)  

 

(

 

−3 − 2i)(

 

−7 − i)

15)  

 

(

 

5 − 5i)2 16)  

 

(

 

1 − 2i)(

 

2 − i)

17)  

 

(

 

−5 − 3i)(

 

7 + 6i) 18)  

 

(

 

6 + 4i)(

 

−4 − 6i)

19)  

 

(

 

8 − 6i)(

 

−6 + i) 20)  

 

(

 

−2 − 5i)(

 

−1 − 8i)

21)  

 

(

 

3 + 3i)(

 

−4 + 5i) 22)  

 

(

 

−3 + 7i)2

23)  

 

(

 

4 − i)(

 

6 − 2i) 24)  

 

(

 

7 + 3i)(

 

6 − 6i)
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25)  

 

(

 

−7 + 3i)(

 

−5 + 3i) 26)  

 

(

 

−8 + 2i)2

27)  

 

(

 

7 + 5i)(

 

−4 − 8i) 28)  

 

(

 

−3 − 6i)2

29)  

 

(

 

−7 − i)2 30)  

 

(

 

8 + 7i)(

 

−6 + 4i)

Use complex conjugates to simplify and write in standard form.

31)  

 

8

 

7 + 8i
32)  

  

−6 − i

 

3 + 10i

33)  

 

4

 

−2 + 2i
34)  

  

−9 + 2i

 

5 + 3i

35)  

  

5 − 5i

 

−6 + 4i
36)  

  

1 − 3i

 

2 + 9i

37)  

  

8 − 7i

 

−2 − i
38)  

  

−10 − 10i

 

10 + 6i

39)  

  

8 − 7i

 

−9 − 9i
40)  

  

7 − 9i

 

−7 + i

41)  

  

2 − 2i

 

−4 + 10i
42)  

 

3

 

4 − 7i

43)  

  

−2 + 10i

 

−5 + 5i
44)  

  

−6 − 8i

 

−3 − 10i

45)  

  

5 − 4i

 

1 + 5i
46)  

  

−9 − 6i

 

−1 + 3i
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